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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Maximum Marks: 60

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
CamenGm euens eNeuTmé&me

Read the following instructions carefully before beginning to answer the
questions.

NTEEE6G oL weallbsd QASTLRIGL (LY SDESEIL SMelmysamerd
SHEURTLONSL LIy H&6)LD.

1. This computer based Test contains 60 number of questions in objective Type.
Qis5s seief aufls Csiaurarsl, 60 QAsma@GM aumsUNETsT eN6ITTSHSm s

Cl&mevuTL_g).

2. Answer all questions. Each question carries one mark

SIMeTSH G AMNATEHEREGL oL weNssad  euQeum( leslmeyld  §p(h

LOACILIETI 2 DL LIS,

3 In case of doubt, English version is the Final.

allaméseiiey  HCHHL  QEHUNsT R augeNedd QBTHESILL BeTen

erTéaGer Qm)Simets).

4. Words of masculine gender in these questions shall, where the context so

require, be taken to include feminine gender.

Ans efemésefed QLD QuOmIdTeT gyevmr LMESlsS&6ufleil QUMTSHmS&HeMen
Coemauliuger,  &UasCanu  Quesm  umedles s eurfls QUM& 608 8 (EhHLD

SILRIGLD.

S. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

allanemiugmyiset safMeafl aufls CaialnE el weléss Q&ML MIGLD
Wwer  sefeflulletr  Heogulled  CamaTMID  SUMEEDTEHMET  SHEUATLONSL]

Llg &$&aLD.

a) One question will be displayed on the screen at a time.
@G Crrsded @@ alam LLEGWL savaflls Hanguilsh CHmeTMILD.
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and

Income is the difference between

D SMULD GTETLIG) LOMHMILD
(A) Receipt and Payment
auge] , e sgaLnger

(C) Income and Expenditure
au(mHeurL, GlFeallend

Book keeping is the art of recording

accounts

savsE g Heer uymwfliy eramig) sawsGs(saflc

(A) Cash transactions
QTTéHa BL_GLIg SENEHSET

(C) Credit transactions
SL_6T HL_6UIg HENSEHET

@enularen Coumiuim( <G LD.

Receipt and Expenditure
aure,blFee ger

Income and Payment
QU(HEUIL, Cl&@)IHSIEDDE&ET

transactions in the book of

udlay Gleiub seanewimEL.

Business transactions
GUENT & BL_6UIG SENHSHET

All transactions
DMENHE] LG g HEN&HSHET

The Assets are entered in the records on the basis of purchase price only. This

concept of recording is said to

ghsaler Cersgésmar saupan (Qunn) eurmdu efamouid Ldley Celag)

&(HSE SlgliuanL_ulleomeangmEb.
Historical cost concept
LTTHET HL_&&ellanedd s(HHg)

(B) Matching concept

Qur(pSgInEs &(HHL)
(C)  Full disclosure concept
ww QeuaflS B8 smHss)
(D) Revenue realisation concept
qu(HeUT $T6s H(hés)
Each business transaction has two fold aspects and is said to be and
speuleum(m euenils HL el &ensID LDHDILD ———————— T Q(H SEEDLOGEETS
CremTL_g|.
(A) Income, Expenditure
auye], Gaewa]
)y( Debit, Credit
umml, eUye
(C) Asset, Liability
Clegrgg, Cumrmi
(D)  Personal, Impersonal
SLETEMT, QpETETTT
008/DM/21
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d. Plant and Machinery is an example of

Qumrdlyb, Qurdg QgrEHub

(A) Personal a/c
D ETENT HEWTH(G
(C) Nominal a/c
CuwreTe| semTéE
6. Choose the correct equation :

sAlwrer gwerur_ig e Camey Glals :

(A)
B)

(©)

v

Assets = Capital — Liabilities
QeTsgH&H6T = (LpH — ClUTmILIL&ET
Capital = Assets + Liabilities
e = Qerggisaer + HurmliLsar
Liabilities = Capital — Assets
QuIrmliL&eT = (pge — LlFTEgIE&6T
Assets = Capital + Liabilities
Qarggisaer = (pged + HurmliLser

Q.No. 7 to Q.No. 9 Consider the Table

account
STES DG R(H 2-STTETLOTGLD.
Asset alc
Cergg saméE

(D) Capital a/c
(PEHE SHEmTE (S

Type of alc Debit Credit
X1 Personal ale Y1 Receiver

Y2 Giver

Z1 Giver
Z2 Receiver

X2 Real a/c Y3 What comes 73 What goes
Y4 What goes Z4 What comes

X3 Nominal a/c Y5 Income and Profit 75 Expenditure and Loss
Y6 Expenditure and Loss 76 Income and Profit

Qe eranr 7 - el eragr 9 Ep&aTEmID B L U@ SMHESID Glamars :
ST UG umm GUTE

X1 o aremi semrds, Y1 Qumueurt Z1 gmueur
Y2 gmueur Z2 Qumpueur

X2 Qersg saTéE Y3 2 6t augpuensy 73 Geuafl QecrLiama
Y4 Geuafl Gecoueancy Z4 2 6T eu(mLeE

X3 Quuwrere] s,

008/DM/21
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Choose the correct combinations :

gflwren @enanrudener GCae| OlFus :

X1-Y1-72 (D)

X2 - Y373 (B)

7. A X1-Y1-71 (B)
(©)

5. M
(©)

10.

11.

12,

X2-Y3-74 (D)

X1-Y2-71
X1-Y1-73
X2 -Y4-73
X2-Y4-74

(Ay X3-Y5-125 /EYXB-YG—ZG

(C) X3-Y5-176 (D) X3-Y6-75

The cost of car of the Office Manager will be
Hlmeuengdlen Goamem(héE euTseDd aUmmlLg).
% capital expenditure
epvg e GlFaay
(B) arevenue expenditure
au(HeUTudlen Clea]
(C) a deferred revenue expenditure
BT SrevsSNE LWes s salg L GlFa

(D) none of these
@emeusafle ergialeoene

Which of the following is an example of fictious assets?

Epsaar_cupneT 6Tg) SmEmISHE oL T Clenss,)

(A) Machinery (B)
Qupslyd

(C) Stock
sT&E(mUL /B’

Patent
o flod

Preliminary Expenses
gleusglaney Glgeedlemb

Find the receipt which is not to be classified as capital receipt

(Wselar aureurs SMHSIL Quirs euredlerid

(A) Capital introduced (B)
Qarfledler @L Ll L 1pse
(C) Loans
S1_GUT&ETT
5

Sale of fixed assets
Hlenew Qargg eflhuemeanuiled Glunm aure]

Sale of goods
LiewTL_migeT edlpueneruded Qumnm eurey

008/DM/21
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13.  Example of Expenditure which cannot be classified as capital expenditure

psellar Qeewailend eran @Bl LG Guierg tsweilasSHneE o-myem b

Purchase of fuel for machinery (B) Purchase of Land
Quibdlysharer erilCLmmer Glamerpged Blovd Gl&meTpgen

(C) Purchase of Machinery (D) Purchase of Furniture
@ubSHrid CareTpsen SIEDMEEN Ll STET(PSHE

14.  Which is one of the example of nominal account?

Q&e erg) QUWITETEY HEMTES DG 2 STTETLD?

(A) Profit and Loss a/c (B) Machinery alc
@oru Bl &/ @ Qubdlr /@
Interest (D) Capital alc
L ig P5o 5/

15.  Which column is important for preparation of reconciliation statement in the cash

book?
sMEst_Hib L wed swurfseb Qurws QTTés Lssasdle ebhs STaLb (Pp&&luLnTang)?
/ﬂ' Bank (B) Cash
eI QyrEsd
(C) Discount (D) All
SET(ETHLIIg. @ el SimeaTSg D
16. The Asset accounts are always closed with balance.
Qgrég) saumsHEadr erGUT(PGID BlmLienuL Q& TeTig (h&ELD.
(A) Plus balance (B) Minus balance
WenausmLiL @anmuslmiiLy
Debit balance (D) Credit balance
upD GBUY auyel Qi

17. At the end of the year the personal a/c s and real a/c s are

<2par(h) @mISA6d 6T ST HETEGSEHLD, CETHE) SETEHEGSHEHD

(A) Closed Balanced
(pg&aLLE Slemen @iy sl uu@lerme
(C) Closed and Transferred (D) Not at all closed
WPy&sLul () wrHpliu@éleme iy &sliL(heigliame

008/DM/21 6



18. Purchase Book is maintained to record

Qararupsed 6 iged Ldey QaliuL Geuamig w GETeTpge

(A) All type of purchase (B)
DS UMGHWTET G &STET(PHD

Credit purchase only
&L_an Qarearpse L (Hb

Cash purchase only
Qyrés Camarpged L (Hb

(D) Asset purchase
Camgg&HaeT ClaTeTIpge

19. In three column Cash Book, Cash drawn from bank for office purchase will appear

WwuLsE Qrrés gligd Sgees Csmeabsts Umd a@ssg Crmés Ussssdle

L&&SSI6 smemTUiL(HILD.

(A) Debit side only
UMM USSLD WL (HLD

(C) Credit side only (D)
U LIGSLD L (HLD

Both sides

@ra(h LSSIPLD

No entry in Cash Book
Qrrés erliged udwlinheugleoame

20. A cashier, who maintains impressed system of Petty Cash Book starts with the
opening balance of Rs. 10,000. Expenditure during a month amounted to Rs. 8,600.

Find the amount to be impressed.

waruent By wpeapuded Sm Cyrés udCauligenar LFTofgg eumd sremenT e.10,000/ -
@bl @iy geuhdlamt. @@ wrssded et ¢5.8,600 Gswail L Gerarg.
sreranmEE B Lsars eflss Couemgw GQgrensuiien ojeme,

(A) Rs. 10,000 (B)
@.10,000
Rs. 8,600 (D)
e5.8,600

Rs. 18,600
18,600

Rs. 1,400
er5.1,400

21.

aumidl Lissasdlan

Balance as per the Pass Book shows the quantum of Bank Overdraft.
By g Guodeianys LpHler Sfereilenad GmlsELD.

(A) Credit /Ef Debit
QU6 LD
(C) Cash (D) Bank
Grrés G

7 008/DM/21
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22,

23.

24.

Debit Bank Balance as per Cash Book is Rs. 3,000 cheques issued to suppliers
uncashed value Rs. 1,000 then the Balance as per Pass Book.

Qrrés glgar aumdulmiy upp e5.3.000/- sréE AACUASsLMmES aupmdlugld
srerssiILLTs sTGsTane 51,000/ - erafle) eumid) GedGel 1y e Ligwimer @By
(A) Debit Balance Rs. 4,000

upm @iy e.4,000/-

% Credit Balance Rs. 4,000

sure] @@Uiy @5.4,000/-
(C)  Debit Balance Rs. 2,000

ubm @iy e5.2,000/-
(D) Credit Balance Rs. 2,000

aurey @mLiy ¢5.2,000/-

Credit Balance as per Pass Book Rs. 10,000 unrealised cheques value Rs. 2,000 then
the Bank Balance as per Cash Book

aukid ussssHarug eure; Qmuy  @.10,000/- ey Geswrearflf(mbg UL L
srGerenasafies 52,000/~ eurey emeusasliLLellooene erafley Qrmés eriliqen  Liguimer
cumIgludl(mLIL

A Debit Balance Rs. 12,000

umhm e5.12,000/-

(B) Credit Balance Rs. 12,000
aurey em.12,000/-

(C) Debit Balance Rs. 8,000
upm ¢5.8,000/-

(D) Credit Balance Rs. 8,000
aure] em.8,000/ -

Purchase from Thiru. Anand has not been entered in the Purchase Book. This type
of error is said to be

B(15. 2 ETHS eremmuieulLO(mbg) Qaerarupgd Gauwiiul L g QareTipged 6L iged udley
QelitiuLeféema . @Ubeanp e

(A) Error of Recording (B) Error of Posting
Liflay Qelise e T (H5ES PGS SlenLp

(C)  Error of Casting Error of Omission
gl L& YenLp B GemLp

008/DM/21 8



25.

26.

27

The Trial Balance will be disclose the Error
Qetreumueupiled @priumie QeuefliL@ggid Wenp

(A) Error of complete omission (B) Error of recording
W el Genip udley Qawige enLp

(C)  Error of principle y Error of partial omission
eflgl Yenip LS efl[H Genp

The Trial Balance will not disclose the following Error

Quiurieie Qeuefliu(ss @wer e

(A) Error of Casting (B) Error of Balancing
gal L Genp sfls_(Hge Yenp
y Error of Complete Omission (D) Error of Partial Omission
B &6 Gevip LGS efp Yenyp

After close the a/c it was noticed that the purchase of a machinery for Rs. 50,000
from Mr. ‘X’ has been entered in the purchase book. To rectify the error, the journal
entry required 1s
LHCau@sa idsuul L Gar ¢5.50,000/-65 & X euisalblmbs C&TaT(pHe
Qeuwiiul L Quidrd  Carapsed  LHGeuL g6 udley GQelwdul (eTerg erer
s g ssiulLg. @Gy Hmsssdharar GHLCULE Ldle erg?
(A) No Error — No Entry is required
sa1Cngfldeme eraugrd GHUGULE ude Cameuulaame
(B) X a/c Dr. 50,000
To Purchase a/c 50,000
X &/@ upm 50,000
Qaretpse &/ 50,000
(C) Purchase a/c Dr. 50,000
To X a/c 50,000
Qarerpsd &/ upm 50,000
X' &/@ 50,000

y Machinery a/c Dr. 50,000
To Purchase a/c 50,000

@Qupdlr &/@ upm 50,000
Qarerupse &/ 50,000

9 008/DM/21
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98  (Credit sales to Batcha for Rs. 3,500/- has been entered in the sales book as
Rs. 5,300/- The Journal Entry required to rectify the Error.

LTl er  Sjeuis@Epssrar slen  efpuener m.3,500/-cSlpuemar  eriige £5.5,300/-  eram
uHwuiiud Gearerg. @@Ly HnsssHDE Comeaiurear GHLUCULE udley SHs.
Sales a/c Dr. 1,800
To Batcha a/c 1,800
eflpuener &/ @ umm 1,800
urler &/ @ 1,800
(B) Batcha a/c Dr. 1,800
To Sales a/c 1,800
ur’gr &/ @ upm 1,800
eflmuener &/ @ 1,800
(C) Sales a/c Dr. 8,800
To Batcha a/c 8,800
efpuenar &/ @ upm 8,800
urlar &/@. 8,800
(D) Batcha a/c Dr. 8,800
To Sales a/c 8,800
urler &/@ unm 8,800
admuener &/ 8,800

29.  Trial Balance is prepared for the purpose of

@Qmrurie) swriggeer Gprésn

(A) Calculating the Profit or Loss
QOMLILD D@V BLL LD STl

(B) Analysing the financial position
B8 Hlenavanioenut 6y gl

)9/ To ascertain the arithmatical accuracy of accounts

samsEaaian #fl sanavuiaar 2 ngl Cleuwiuw

(D) To fulfill the legal requirement
gL ireu Caeneuulanar HlenmGoumml

008/DM/21 10



30.

31.

32.

33.

Credit Balance of the suspense a/c to be transferred to
S samsdld eureyel Gy wrppliuL Geuerigul @b
(A) Debit side of the P & L a/c

@eru Bl &/ uhn USSLD
(B) Credit side of the P & L alc

U BLL &/ 6UTe| L&SLD
(C) Asset side of the Balance Sheet

@iy Hleve GHILIY CleTdgés6ar LESD

% Liability side of the Balance Sheet

@iy Hleved GHlLiy CurmliLseT LSS

The wages paid for instalation of a new machinery is to be debited in
alc.

LA Quipdlrses Hneausnars Camawr sEpée sriulL s@el upy meushs Galerig.u
SIS (&

(A) Wages alc Machinery al/c
Facdl &/ Qupdly &/@
(C) Factory Expense alc (D) Contingent Expenses a/c
9pena LlFwe| &/ Hoveveny Glgevellar &/ @
Goods taken by the Proprietor for his family use is to be credited in alc.

o flepowime senenienl W GHDL UWLEI&ESTS THSSECHTETL FT&EmE U6, M6&HE (CeueTig

&/ &

(A) Drawing alc (B) Sales alc
iy &/ ellpLienen &/

y Purchase a/c (D) No entry is required
QaTeTIpSeD &/ @ udley ergib Caanauuilebena

Choose the correct statement :
sflwrear gaplener GCaTHGSMH

(A) Capital Expenditure is a recurring expenditure
psdlen Qaweyser Hmbu Hmidu Hawb s Clarerm e

% Capital Expenditure is a non-recurring expenditure

psalan QeweayseT L S BspT Seenio Q& masTL_enew

(C) Capital expenditure includes insurance premium
padlar Qseaisar sTUSLH (peanogdlmen 2 e &8 wsmED

(D) The utility of capital expenditure for one year only
waelar Qgwa|sar grreamh&E wHGWw uwer BT HHEHSTGD

11 008/DM/21
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Question No. 34 to 40

Classify the following type of Expenditure :
Mark ‘A’ if it is a Capital Expenditure

Mark ‘B’ if it is a Revenue Expenditure

Mark ‘C’ if it is a Deferred Revenue Expenditure

Mark ‘D’ if it is a Non-business Expenditure

afanr. 34 apse 40 cueny Haveuems Qeweiamser syl (Heararg Glaeusamer euamsILIH 5SS
wseler Qeewey erasid ‘A’ eTema b

au(meuruilen Ggae erafler ‘B’ eramayd

Beruwen eumeurufar Qaawe erafler ‘C’ ereamayd

ewrury Qsriupp Qe erafld D’ erareyb @HLNGG S

34. Carriage inwards

2 T HEHLD Faedl

@ A P

(C) C (D) D

35. Wages paid for installation of plant.
Qurleuens HirreansSnE GarHés UL gael

/gﬁ A B) B
(D) D

© C

36. Purchase of Machinery.

Quipdlrid Clamerpgen Cswigs)
/@ A (B) B
) C (D) D

008/DM/21 12



317.

38.

39.

40.

Purchase of Fuel for Machinery.

Quipdrsdnarer erCurmer Cararipge

A) A /ESB

€ C (D) D

Expenditure incurred for convertiom of Petrol Engine into diesel Engine.

Qui_Crre QuipdréHever eae @wibdrors wrHbl Diemwss tlewaiiad

,ﬁ) A (B) B

€ C D) D

Expenditure on Research and Development.
< rmiES wHmID eueTiFflésmen Glgaeiiand

A A (B) B

/eﬁ‘ C D) D

Higher Advertisement Expenditure.

<ifl& Serellevmer edlaTbLy Qaevellerid

A) A B) B
C

y M) D

13
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®
Q.No. 41 to Q.No. 50

Some Heads of Accounts appearing in Trial Balance is given to close the annual alc
specify where this heads to transferred.

Mark ‘A’ for Dr. side of Trading and P & L alc
Mark ‘B’ for Cr. side of Trading and P & L a/c
Mark ‘C for Asset side of the Balance Sheet
Mark ‘D’ for Liability side of the Balance Sheet

&G 41 @psed 50 eueny

BrUUTeid srariu@D fo samrsE soolLsar Sefldsiul(Hearerer. @i sars@Esamer
gurfés Qenausamer eTri@ wrHm Geuam(HLd ered GHUEHs.

eAwrLTyb HmID @eTU B L samEsld uHmn LSsD rafld ‘A’ eraayd

eSlwrLrgih wHmb Geru BUL samadld augey udsb arefle ‘B’ eraiab

sAwrumyd wpmb @iy Heaews GHluGh Qarggisser ussh erafla ‘C’ eremeyd

awiruimyd wHmib @iy Haws GHubde QurplyseT ussD erafld ‘D’ erevebd @hlésabd

41.  Stock
Fr&SlmUL
y A& (B) B
G C D) D

42, Furniture.

S DEHETEHET

A) A (B) B

)af e (D) D
43.  Purchase.

Qererpgen

A) A (B) B

€ C M) D
44.  Sales

eflhuenar

@ A P

¢ C D) D

008/DM/21 14



45.

46.

47.

48.

49.

50.

51.

Debtors
FL_erraflser
A) A (B) B
JQ’ C (D) D
Creditors
SL_GTTETT&HET
A A (B) B
© c D
Capital
(PSD
A A (B) B
(C) C )Bﬁ D
Salary
FLDLIGTLD
A A ® B
(€ C (D) D
Bank Balance
cumdludimLiy
A A B) B
)9} C (D) D
Discount Received
Clupliul L geT(@pug
@ A A0 B
(C) C M) D

Annual Insurance Premium (new) paid for the Calendar Year 2016 is Rs. 24,000/-.
The alc’s are closed on 31st March 2016. Calculate the amount to be debited as

insurance premium in the Profit & Loss alc.

em udu par® sroSLH peenod 2016 prisriyg RpETHESSTE 24,000/~
Qs iUl erarg). e sand@sdr 31 wrié 2016 oenm (pyssiurLg) erafled eomrL

BUL Sarédle) Upm eneusbsiuL Goueiqul sTUEL D penarnstsrans?

Rs. 6,000/— (B) Rs. 12,000/-
¢5.6,000/ - e.12,000/-
(C) Rs. 18,000/- (D) Rs. 24,000/-
e5.18,000/— ¢.24,000/—
15
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52. The Trial Balance at 31st March 2016 shows the following :
Investment @ 10% p.a. Rs. 5,00,000/-
Interest on Investment Received Rs. 40,000/
Then the amount shown in P & L a/c will be after adjustment if any as interest 1s
31 wrié 2016 prafler Griumiedlid Gemeumbd eSlurd 2 dTerg|
wpsdBser @ 10% p.a. gp. 5,00,000/-
WseS &t g Gupliul L el ig . 40,000/ erafled
Georu L samsdled GALG iuL Cauamqw el ystgras slssl Gge agblmilen

3G earT Sl Teans

(A) Debit Rs. 40,000/- (B) Credit Rs. 40,000/-
umm en. 40,000 /- aurey ep. 40,000 /-

(C)  Debit Rs. 50,000/~ Credit Rs. 50,000/~
umm en. 50,000 /- aura] em. 50,000/~

53. A machinery was purchased on 2015 November 1, for Rs. 3,00,000. Accounts are

closed on 31st March. Find the depreciation to be charges at the rate 10% on
diminishing balance method for the year 2016-17.
2015 meubuir 1 oermy @ 3,00,000/- & Qupdlrd gam Gsraiipged ClenutiurL g
() SMESSIT eeur @B wriE — 31 e Wy sstuGEng. 2016-2017 b
SarenE Gopss Qe @amuy wapuia 10% oigluarwid slssuuL Geusmmgw
Cainmarbd saumddl (&

(A)  Rs. 30,000 (B) Rs. 27,000
. 30,000 er5. 27,000

)W Rs. 28,750 (D) Rs. 28,500
. 28,750 . 28,500

54.  With reference to the following particulars find profit or loss?
Initial Capital Rs. 4,00,000/-
Drawings Rs. 90,000/-
Closing capital Rs. 5,00,000/-
Capital introduced during the year Rs. 30,000/-
Spsaar efurhsmad Qara() Georub g HLLSslamer SanTLHl&"?
Qs (pge en. 4,00,000/-
er(iy em. 90,000/

@nd se . 500,000/
<parr(h) @erLudd QL UL L B (psed 5. 50,000/

Profit Rs. 1,60,000 (B) Profit Rs. 40,000

@eorub em. 1,60,000 @erutd ep. 40,000
(C) Loss Rs. 10,000 (D) Loss Rs. 40,000

BLL_b e, 10,000 BU_LLD 5. 40,000

008/DM/21 16



55. Find the Missing Entry
Profit made during the year 4,800 : closing capital Rs. ?
Capital introduced during the year 4,000 : Drawings Rs. 2,400
Initial capital Rs. 9,600
QUL Csrensenw &Hrems.
@eueuran(h Gubm @eru gp. 4,800 : @nidl pse oh. —————— ?
() @enLuded emeussIuL L (G (PHD (. 4,000

LI ep. 2400 QsrLds wge . 9,600
A 16,000 (B) 12,800
(©) 18,400 (D) 14,400

56. In the single entry method of accounting the credit sales 1s found by preparing

enaopliudle) panularear saréE Urmoflibd e e efNpuenenr —————— SHEWTH (S,
surfigsaien ppeid samsdL LS DS.

Sundry Debtors a/c (B) Sundry Creditors a/c

LUhHUe sLarailser &/ @ upUe sLaThCSHTT &/
(C) Balance Sheet (D) Statement of affairs

QUL Blenavd @BILiL Blevay iHldens

57. Choose the wrong statement, purpose of providing depreciation 1s
seupren ganlanar Gaiay Gleuis — Gouiomed s fgsalen Crrasnisate) @)
(A) To ascertain the correct Profit or Loss
FRWLITET TLILD DS BLL LD Seim_Hge
}f To avoid excess incometax

Blenswiren eugmLore auflenws 6lT&sen

(C) To show the clear picture of financial position
> qreniowiren Bl Hlanvanioanus o i &g S0

(D) To find the actual production cost
> @menwrer 2 pusH Ceweiamen sl
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58. Choose the irrelevant statement :

Factors to be considered while fixing the amount of depreciation.

QurmpsT sanamn CabolsH &aeLD.
Gauiorans Qgrapsuiene Hlienuils@o Qur(pg samédd QardreriiL@ib sryeaflaer

(A)
(B)

(©)

v

Original cost of the asset

Qersdlen 2 amento 9L &sedene

Estimated life

T HTCHTEEGD LiwerefliiL &reutd

Final Value

@nid gl

From where the asset was purchased
ALY ermdl(mhg) CaTaripgen Qelwliul L g

59. Profit earned on sale of an asset is debited in the ———— alc.

Bleve Qersg eflpugmed erhuGID @erubd upm QeElwiILEDL SETEE,

(A) P &Lalc Asset alc
oru plL &/@ Qersg &/
(C) Depreciation a/c (D) Sales alc
GCauinrer &/ elpuener &/
60. The amount of depreciation on machinery is debited in ——————— alc.

@updrsden SIS @Hs SssiulL Gl Qsrens LHM QELWLLED SETEES,.

(A)

©)

008/DM/21

Machinery a/c )’ Depreciation a/c
Qubdlr &/ Gguinrer &/@
Cash a/c (D) Bank al/c

Qrrés &/ eumidl &/
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DEPARTMENTAL EXAMINATIONS

LOCAL FUND AUDIT DEPARTMENT TEST - COMMERCIAL
BOOK-KEEPING

(Without Books)

Maximum Time : 1 hour Maximum Marks : 40

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
el fleunest el wefl& @0 euens ellewng g e

Read the following instructions carefully before beginning to answer the questions.
damésenéE o wellés Asrim@gh ey SDsaaTL iHle|@IEmeT SEUATONS Ly &&e]LD.

Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

e_amer AU Derar aramafismsass dawns eawdulminder, el ggraflear @msuile
o arem oifls eramafisamsuideorar efleLsdr wWHUEEH el Tg.

In case of doubt, English version is the final.
amssafier sCssllmL e gYrde ageld Gasrhssiiul Harer elamssGer @miSluimang.

Answer any EIGHT out of the following Ten questions.

Wlereumbd LISE efenéseEmet 610 eflanésEnée ellenLweflssayb.
(8 x5=40)

What are the basic assumptions of Book keeping?

samsSwellen g UL e)DTRTEISET WTEn6U ?

What are the basic concepts of Book keeping?

Sy LIUDL S SMESWD SHESIHISET WTenau ?
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3. Classify the following A/c’s as personal Alc, asset A/c and nominal Alc.

(a)
"(b)
(c)
(d)
(e)
®
()
(h)
@
G

Capital

Purchase

Good will

Copy right

Latha

State bank of India
Electricity charges
Dividend

Rames

Outstanding rent.

Gemeumd @armsamer QFngg), eremt wHmb QUureTe| SETEGSETS MsILHSEIS

(=1)
(<)
@)

(¢2)

paed

CQamerpsed

cuantle BhHG LW
udiyfleno

QST

GG uMmiis <l @bSlwm
Lol L L_emrLlb

LI pSTUWILD

TGy

Qar@ssuL Ceuamgw eum_ans.

4. The cash book of Thiru. Thandapani. Shows the bank over-draft Rs. 15,000. Prepare a bank
reconciliation statement with the following particulars as on 30t June.

(a)

(b)

(©)

(d)

_ (e)
008/DM/21

Cheques issued in June Rs. 21,000 of which the cheques worth Rs.r 12,000 only can
cashed by the suppliers within June.

Cheques deposited but not credited by the bank Rs. 17,800

Passbook shows a debit of Rs. 150 towards bank charges

Bank debited Rs. 280 towards interest on OD

As per the standing order remitted Rs. 2,750 towards insurance premium

2



. sam_urentl Seursaflen Qrrés e iger Lgwrar uiidGwed eueny UHM F. 15,000. Gemeu(HD
- efleuriisener Glarer(p) grer 30 prafll L eukidl @)Ly Gewss oflsmsleman swmiéseyb

(<=1) grenm wMgsHle GuPRSLILILL @h. 21,000 saran snGsToas6D gh. 12,000 gluyerer
anGeramaser L HCW QurmeafbCamymed Qsrens QupriLL Garearg.

(<) eumdldler Qegusdu  srCGememasgelids ey 17,800 amdurd  wGdlss — eurey
Meuds LI alldena

@) eundl et igd eundl sl Lemrons g 150 uhn eeussliuLl (HaTerg).
() edule upy eeussuLL Geter auriid G euenrupmy Bsmer el iy . 280.

(2.) Hleve geamulleruly, cundl Cegsdu smullH pevarob . 2,750.

An accountant failed to balance the trail balance and so put the difference Rs. 5,180 (credit)
as suspense A/c. differ that, he found the following errors

(a) Commission paid Rs. 500 has been entered in both the commission A/e and discount
Alc.

(b) Sales book under cast by Rs. 1,000
(c) Credit sales to Raja Rs. 2,780 has been entered in his account on Rs. 3,860
(d) Loan from Nataraj Rs. 1,500 has been debited in his A/c.

(e) The total of the discount column in the payment side of the cash book Rs. 2,400 has
been wrongly strucked as 2,800.

Prepare the suspense Alc.

@muurueienar gweru(H\GS @Lq_uﬁg, samdsrart gmeui GCaumur (@ Gsresullanear . 5,180
(auge)) <ipTwHa sansE Cemmeiss ude Qeugererti. Gemart Spsewr  Yevpsmern
ST HlbS .

sfle) GCegsdug ep. 500 sar@puy sarsE, sPle| SaT&EE Ta @(H SETSGSSET
T(PpsULIL (heTaTg .

(). eflpuenear ¢r(H @h. 1,000 GMDaUNs Fal L LILIL (HeTeng)
(@) rrmrellneE sLams cllhmg oh. 2,780 el samsdla p. 3,860 - er(psLIuL(HeTerg
()  BLgrmeflib sLams eumadlwgl . 1,500 e sawésdled uHm emeusslul [HeTerg

(2) Qrmés glger Qesgmss usssdle sar@puy USHD . 2,400 Feupns g, 2,800 erem
Sl L Uul (heTerg)

SABTLSE samsdanar swLmilés.

3 008/DM/21
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6. The Trial Balance of Mr. Ashok as at 315t March 2016 shows the following

Dr. "Cr.
Rs. Rs.
Sundry debtors 2,01,200
Bad debts 9,400
Reserve on bad and
Doubtful debts 24,000

Adjustment required
(a) Additional bad debts to be written off Rs. 4,800
(b) Create reserve- on bad and Doubtful debts at 10%

Show, how there items will appear in the P and L A/c and balance sheet.

A =1CGens sauiisaflar 31 wri§ 2016 prefld GrLuumieie Weraumb alluyigdHT 2 areTear

uhml em. QUTeY f1h-

DU SLeameflsar 2,01,200
GUTT&&L_6IT. 9,400
GUITIT SIS L6 24,000

Caemeuwren eflsl L daar
(D) eumpnésLan @p. 4,800 sm(BHsars CurstspsuuL GeuamHib

(=) sLamelsdr 85 10% MM BUESLET @F6E 2 (harsse|b @eefertsd @aru Bl
sansfaud Qmuy Hleve @Mifaun eeeury Gamemmib ?

7. Muthu and Co installed an additional machinery on 15t October 2015 at cost of Rs. 75,000.
Depreciation on the machinery is provided at 10% on diminishing balance method. Accounts
are closed at the end of every March 31%t. The machinery was sold on 30%* June 2017 for

Rs.50,000. Find the brofit or loss on sale of the machinery.

wss & Gsr ,sGLIUT 1, 2015 ey 5. 75,000 Qsweld smBsd Qupdibd geablaearn
frorafssat. QspE Gonba Qed Gwmuy wepulad 10% Gsuorand Hasb GealwlulLg.
geuQeun(m &L WTE 31 e SETEGSH (PussuulLar @euallubgyn grar 30, 2017
S{eTn . 50,000 & ellpsliuLmed e Huenen LB‘;BITVGDT QIULD Heog BLLSSlmen sras.
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8. Match the following

(‘
Type of asset Suitable method of depreciation
Building Depletion method
Machinery Revaluation method

Lease hold property  Straight line method

Tools Annuity method
Mines Diminishing balance method
Qurpsgs :
Cemgdler gemenio fpps Cauwwreand sarsdOn wpeon
&L 1g.L LD ' Qeumienwinged
Qusdt opLALS @ e
&ssMs CFTsgser CriGam_(H wem
efl(H smellaer par® Cgrens panm
&'rITTE'ucBSLID. Goppg CFw @ muy wenm

9. Fill in the blanks
(a) Net profit, from proﬁt and loss A/c has to be transfered ——— Ale
(b) Closing stock is valued at cost price or selling price which ever is
(¢) Expenses payable appeared in the ——————— side of balance sheet
(d) Accrued income, not received appeared in the ——————— side of balance sheet.
() Income received in advance appeared in the ————— side of balance sheet
(f) Interest on capital is debited in ———— a/c.

(g) The amount irrecoverable from the debtors is said to be

(h) Outstanding interest -on loan obtained appeared in the ————— side of balance
sheet
(1) Closing stock is —————— in the profit and loss A/c

() Closing stock appeared in the ————————— side of balance sheet.

5 008/DM/21
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Gamg L L @)L hiseer Hlylys

(=) Hareorub, @ruplL sarssdlmbg —— sansdhE LTHPLLGEEDS A
(<) @mig srEAmUIL SILss@ma <iowg epumer ellme @ad g —— 2hS
edevaude wHOALLLBEDS ’
(@) Gsrur Geudgw G&wma;s:rr @Amuy feoe @Rludds ————— usss5e Cgmemm)ib
(FF) C'é&r‘r‘rjr;gjc'rre;rr QupriuLrs eumaumi @ouy Hee GHlubes —————— usssHa GComemmid
(2)  emsnligGu Qubp-auBeuml GliLblena GPUQar ————— udsgdler Garanmd
(2ar) pse Bsmer aullg upm CELwiuGD &/
(e  sLamelsal_B@mhs SmbuQup Guens sLsr —————— eariu@ib
(@) eumdu sLer Bsrer GsrRuL Ceauarqw ey @nuy B @O
usssH D Camenmib
(® Qo Fradmuy omu pLL sanddle ————— @aussIU[ID
(@) @Qund srsdnmuy @iy Heow @Hudea ———— usssHad Caremmib.
10. Write short note on the following with reference to bill of exchange
(a) Drawer

(b)
()

Drawee (or) acceptor

Payee.

wrHmél Gsaflen gl uild aﬁ]émsugaucmsumﬁein Bsrer m @HlLY s ?

(<=1)
(<=4)
@)
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